ReviewStations-Unit4.notebook November 22, 2022

STATION F4
Expand and Simplify
a) (x+3)(3x-2) b) (3x-2)

c) (3x-4)(3x+4) d) -4m(m-2)(2m-1)
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STATION A

Factor Fully
a) 2x° + 6x b) X*+4x+3 c) 9Im°—-16

d) 6x°+19x + 8 e) 3x(x-1)+ 4(-x + 1)
f) 10r*-22r+4 g) 4h’-36
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STATION O

The volume of a box is given by V = 3x> —3x + x° -1.
Find the dimensions of the box expressed in
terms of x.
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STATION R

1. Find the values of 'z' so that the following
are perfect squares:

a) r’+zr+ 100 b) 9k’ - 24k +z

2. If the trinomial x°+ bx -4 can be factored,
find all possible values for b.
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STATION T

Determine a simplified expression to represent
the shaded area.

= 14%+2

X+1
L1

3x-2
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STATION F,

Given the equation y = 3x% + 12X + 14:
a) Show that it is not factorable
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STATION U

Factor fully:
a) x*-18x° + 81 b) 2x* +28x +98
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Station A

a. 2x*+6x bh. x2+4x+3
=2 (X+3) = (xt3)(x~+1)
2 . TD
a. 6x4+19x4+8 A 19
k% +lby+ 3x +8 N 16 3

=2x%(3x+8) + (3x+8)
=(2x+8)(2x+1)

e 10 -22r+4 M o
s 2_ A -l
= Sr%=flr+2) I oo

=2(5 -lor = r +2)
=2[5v(r-2) -1(r-2)]
#4 Test — 2(.,—_.1')(;(_. |)

d.
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c. 9m?-16
= (Zm+4) (3m-4)

b. 3x(x—-1)+4(—x+1)
= 3x(x—1)—4(x-1)
= (x-)(3x-4)

4h% — 36
= 4(nz-4)

=4(h+3)(h-3)
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a.

a. (x+3)3x-2)
o B =D A ks

= 3K+ T~

(Bx—-NBx+4)
= Q-1p

Station F

b.

November 22, 2022

b. (3x - 2)?

= GxF 12w+ 4

—4m(m - 2)(2m - 1)
= ~4m (Zm*-5m *'2)

==-8m3+2om?* -gm
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Station O

T
= 3y (=) FI(x2-1)
= (3x+1)(xT~1)
= (3x+1) (X+1){(x—1)

. Dimensiows are (5x+|) uni b OH-I) wnD
b_[i) CK—l) urttg . :j
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Station R

a. r°+2zr+100 b. 9k?— 24k + z
Lo P C'_)(_'ID) 2{%)(5)_—_ 24_
= 2o b VZ =24
VZ =4
=z ==

10. If the trinomial x* +bx—4 can be factored, find all possible values for b. Explain your solution.

b is Hee sume of 2 nuwndaess whose Pmd.ud’ S -4,

OPTIonNS : Sum
-l & 4 32

I £ -4 -

2 & -2 O

‘r- b = '_3 ’ 3 o D
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Station F»

a. Show that it is not factorable
Tequacor olertiie iﬁ‘kﬁy‘s s we reed Ho '{”'%“' 2 nundzers (ohese Jolad.u ct is
(D(4) = 42 3nd Whdse sum s 12

OPTionNS: 1442 2L 14

hene b o 12
2eZi bk j ne have 2 sum o
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Station F»

a. x*-—18x%+81 b. 2x2+28x 498
= (x2-9)* =2 (*5+14x+ 49)
= (43 -2)* =2 (x+7)*
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Station T

A'nu#:f.:'dl. = (3x _ZDC‘?‘?(‘F'E)
recd :-mﬁ'u:

= 12¢%- 2% — 4

A rargle = K(K"f‘l J H
r’{’C"‘-&ngc 5
= YTy
ﬂsfnadxzd =

e

12¢% -2y — 4 - 3( x%+ x)

Ax+3
LT, T g (Ve W
=9y 2. 5y 4

x+1

11
L]

3x-2
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